CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SW0001

Part no:

Application/0.E. N:

MITSUBISHI ~ MC-850079
NC-843920
MC-050214
NC-005051

d@ 17 % M16X1.5

Mhw no: SW0002

EIEEaE

Whw no: SW0006

Part no:

Application/0.E. N:

KIA KK150-18-510
KK150-18-510A

MAZDA 1367633

[ec W B =y [ |

Whw no: SW0007

Part no: Part no: 7.3056 TS6063
Application/0.E. N: Application/0.E. M:
NAZDA 8574 18 840 FORD E92Z-10884-C
FORD HONDA 37750-PG1-004
37750-PH2-014
MAZDA G 607-18-510
d@ 19 % M12X15 ‘ Les? | — C@ 12 % 118GAS EI 4mm % _
Mhw no: SW0003 Whw no: SW0008
Part no: Part no:
Application/0.E. N: Application/0.E. N:
DAEN00 03439088 ey DAIHATSU 83420-87702-000
6. M 03 439 088 HONDA 37750-PH2-014
90 246 852 / SUZUKI 34850-70810
94 472 002
OPEL 13 38 448
13 42 561
13 42 568

@ 1 %uaemm‘ E 6,35

e [

|8 | Y | — |

Mhw no: SW0004
Part no: 7.3027
Application/0.E. M:

FIAT 4 386 700
4 396 700
4 444 652

YUGO 1017176

ZASTAVA 1017176

{:(E; 19 E%; M16X1.5
con

1@@@’&635

Loy [ =]

Mhw no: SW0009
Part no: 7.3124 TS920SA FAE32040
Application/0.E. M:
FORD 6145143
86VB-10884-BA iy

Mhw no: SW0005

Part no:
Application/0.E. H:
VoLVO 1080807
VDo 81224

% 58X 18UNF

o

@[ -

quz; 13‘ E%g 1l8-27NPT | J:l Ms

Whw no: SW0010

Part no: 7.3057 TS6010
Application/0.E. M:

NISSAN 25080-89900

|8 =]t -]

el

http://www.okaymotor.com




CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWOO11

Part no:
Application/0.E.N:
YOLVO 1610946
VDO 81221
:1§§ 7 E%g M1BX 1.5 lili ‘ [eal sl ‘ —_—

Mhw no: SWOO16

Part no:
Application/0.E.M:
KOREACAR 7401306024

el @ [t [—|

Mhw no: SWO0012
Part no: 7.3161 TS6071 FAE32640
Application/0.E. N:

TOYOTA 83420-16040
83420-20030
VN J83 420 200 30
{:(EZ 17 E%g M18X1.5 {iii} ‘ T'*;Z5fl == ‘

Whw no: SWOO17
Part no: FAE33331
Application/0.E. M:
G.M 25036807
33004281 A
CHRYSLER 4661341 5
5206374 “ 4

S [ @ [ ]

Nhw no: SW0013
Part no: 7.3009 TS6042 FAE32160
Application/0.E. M:

Nhw no: SWO018
Part no: 7.3177

SUZUKI 34850-65011

HONDA 37750-611-154

DATHATSU 83420-87701

INNOGENTI 553621200

NAZDA 0118-18-181/0118-18-510
DENSO 071 500 0430/071 500 0710

FORD
£

E%g MIBX1.5

D277-18-884A

bt [~

Application/0.E. M:
G.M

91171 786

96 062 513
JAGUAR LNA 1600AA
NAZDA B 593-18-840 A
TOYOTA 89422-30030

I.Cig; 19

E%g M12X15 ‘ 'QEE?'

89422-35010
89422-20010

Nhw no: SW0014
Part no: WG1371
Application/0.E. M:
I1suzu

E 6.35

C@ 19 % 3/8-18NPT

Whw no: SWOO19

Part no:

Application/0.E. M:

DAENOO 12#96181508
12817191170

Mhw no: SW0015
Part no: WG2704A
Application/0.E. M:
KNS

S eI

Whw no: SWO0020
Part no: 7.3042 TS6021 FAE31310
Application/0.E.M:

TOYOTA 83420-12010
83420-20011
SUBARV 21203-AA000
82080-4150

071500-0340

=

% 3/8-18NPT

] 5 [~

E%g M18X1.5

e

E 6.35

e | =

http://www.okaymotor.com




CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SW0021

Part no:
Application/0.E. M:
1Suzu 9-83151-430-0

?Md

‘ i@ 19 %3;&1&49?

Whw no: SWO0026
Part no: 7.3068 TS904SA
Application/0.E. M:

FORD E76Z-10884-B
KIA KKY01-18-510
NAZDA 8 569 18 510

g

Mhw no: SW0022
Part no:
Application/0.E. M:
PEUGEQT

LEAE

ﬁ{ 22 % 112GAS E 6.35

T_¢,1_

Whw no: SW0023

Part no: 7.3010 TS914SA FAE32080

Application/0.E. M:

FORD 1583 836
1591 388
1701 341

6 058 836/6 098 273

TTFB-10884-AA
GSEH-10884-B
DIFZ-10884-B

C@ﬂ'

%us-:mpr‘ ﬂ 3;15‘

o, = |

Mhw no: SW0027
Part no: FAE31020
Application/0.E. M:
PEUGEOT 0242. 14

0242. 40
CITROEN 95.581. 212

95.548. 678
FIAT 5494830

RENAULT 60 00 001 355

77 00 503 200 / 77 01 349 086

Whw no: SW0028
Part no:

Application/0.E. M:
DF CA10

e[l oy |

C{gm %SF&WNPT ? M4

Mhw no: SW0024

Part no:
Application/0.E. M:
SUZUKI 34850-85000

i@ s %wsqmm ﬂ 635

| =

&:2

Whw no: SW0029

Part no: FAE34200
Application/0.E. M:
MERCEDES-BENZ 004 542 56 17
VDO 803/4/2

% M14X1.5

o] s

105T ’

Whw no: SW0025
Part no: 7.3013
Application/0.E. M:

G.M 02 877 229
KIA KAWO1-18-510
OPEL 13 42 557
VDo 2871229

E 6.35

‘{:fgz 17 E%g M18X15

e | =

|l

Whw no: SWO0030

Part no:

Application/0.E. M:

HYUNDAI 94560-32500
94560-32510

E 6.35

% 1/8GAS

e =

http://www.okaymotor.com



CATALOGUE OF WATER TEMPERATURE SENSOR

Nhw no: SWO031

Part no: CS-501 TS-423
Application/0.E. M:
SUZUKI 13650-50601
G.M 91172375

£ 22 % M14X1.5

Mhw no: SWO0036

Part no: 7.3139 TS6094 FAE32580
Application/0.E.N:

WERCEDES 008 542 45 17

" —
C@ 19 % M14X15 dion

Mhw no: SW0032

Part no:
Application/0.E. M:
1SUzZU 8-25036-979-0

Whw no: SWO037
Part no: 7.3225 FAE33110 EG-G02
Application/0.E. M:

BOSCH 0280 130 071
Mgy, 0280 130 072
NISSAN 22360-44810

22630-71L00
22630-D9701
22630-D9702
22630-99800/01

Red
Blue

C(@w %mmnm @ ‘ T_¢_j’ ‘ s C@m %m:m.s @ ti,_rl’ ‘ —_
Whw no: SW0033 Nhw no: SWO0038
Part no: 7.3228 FAE33800 Part no:
Application/0.E. M: Application/0.E. M:
HYUNDAI 39220-21310 FIAT 9616 455 680
39220-21320 CITROEN 96 164 556
39220-21330
MITSUBISHI  39220-21310
39220-21320
ND-069879
C@n’%srscm @ ‘ ¢,i ’ - ‘C@w %MDXLE{ -- ‘ i;ji s ‘
Whw no: SW0034 Whw no: SWO0039
Part no: 7.3078 TS6056 FAE31580 Part no:
Application/0.E. M: Application/0.E. M:
NISSAN 25080-89903 AUDI 171919523
BHW 62110788115
SKODA 115982410
V.W 171919523

B 6.35

I

ey |~

E 6.35

C@ 19 % M14X1.5

Whw no: SW0035
Part no: EG-GO1
Application/0.E. M:
NISSAN

‘C@ 19 % M12X1.5

® [ [~

Whw no: SW0040
Part no: 7.3115 TS6118
Application/0.E.N:

FORD 3601 363
3601 364
6 107 551
MAZDA 34850-78E00
‘ ‘C@ 13 %Hs.zmm E §.35

http://www.okaymotor.com



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO0041

Part no: FAE32150

Application/0.E. N:

NAZDA 0 8569 18-510

NISSAN 25080-89900
25080-13200
25251-37700

_‘@nm E\%\—\

Whw no: SWO0046

Part no: HPCHTT120
Application/0.E. N:

ALFA ROMEO 605 042 10
SKODA

e ga o |

Mhw no: SW0042
Part no:
Application/0.E. M:
VDO 801/3/1

&g o] [

Whw no: SN0047
Part no: 7.3010 TS914SA FAE32080 p
Application/0.E.N:
FORD 1701 341
6098 273
C5EH-10884-B
DIFZ-10884-B

‘ C@m %11&-3?NPT% ﬂ M5 ‘ % ‘ —

Mhw no: SW0043

Part no:
Application/0.E. M:
TOYOTA 83420-20020 My

83420-12010
83420-16020

(:(g; 17 E%g MIBX1.5 [j] 6.35

]

Mhw no: SWO0048 Vi~
Part no: FAE31050 L
Application/0.E. M:

ALFA ROMEO 105000632200

105000632201
60515838/60515839
FIAT-IVECO  4124626/4171667
INNOGENT] 34362106
RV I 0060536400
TALBOT 4881925027/BC-71446000

e lw] R o [

Whw no: SW0044

Part no: 7.3035 TS6055
Application/0.E. M:
NISSAN 25080-89902

El 6.35

§:£§; 17 E%; M16X1.5

Whw no: SW0049

Part no: FAE32711
Application/0.E. M:
G.M.-BUICK 25037332

Mhw no: SWO0045
Part no: WG1701
Application/0.E. M:

<:£§; 19 %%;3!&13NPT Ijl 6.3

S e

Whw no: SW0050

Part no: 7.3080 TS6035 FAE31570
Application/0.E. N:

DAIHATSU 83420-87703-000

FORD 3 395 475/F32Z-10884-A

6. M 94 247 437/94 847 362
HYUNDAI 94650-32500/10/20

ISUZU 8-94247-437-1

HAZDA B 541-18-51X/J E15-18-51X

MITSUBISHI ~ MD-091056

T (B o [

http://www.okaymotor.com




CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO051

Part no: 7.3079
Application/0.E. M:

G.M 91 112 311/91 138 061

96 052 069/96 060 399 b,
96 067 370/96 069 088

SUBARU 42080-5410

SUZUKI 34850-82000

34850-82001
34850-82002

Mhw no: SW0056
Part no: FAE33430 TEC1003
Application/0.E. M:

FORD 1626262/6810428
ETAZ-12A648A/B
E4AF-12A648AA
E6DZ-19E702A
F2AF-12A648AA

NISSAN 25079-1B020

NAZDA ZL0-18-707/A

i@ 13 % wacs»\s’ E[ 6.35 % ’ — ‘ C@?ﬁ %3’5"5“‘” () ‘ T—!ﬁj ‘ — ’
Mhw no: SWO0052 Mhw no: SWO057
Part no: 7.3068 TS904SA Part no: 7.3129 FAE33340 TEC1001
Application/0.E.N: Application/0.E.N:
FORD E7GZ-10884-B G. M. 25036979
KIA KKY0O1-18-510 25037082
MAZDA 8 569 18 510 ANC 898350327
OPEL 1338450/6238236
1SUZU 8-25036-979-0
CHRYSLER 330042. 81
_ _ _ DAEW00 25036979 _ ,
AC %MSKO.?S ﬁl 4mm % ‘ —_ AC ™ %m-mm @ Lesf ‘ — ‘
Whw no: SWO053 Whw no: SWO0058
Part no: 7.3073 TS6053 FAE32110 Part no: WG2704
Application/0.E. M: Application/0.E. M:
AUDI-VW-SEAT 027 919 501 VDO
049 919 501 /A
049 919 563A
175 919 501
SEAT SE-0219470001
VOLVO 1257216
3517501/-1 _ _ _ _
ﬁ@ 1 % M?UX?.D’ E 6.35 ‘ 7—1;51 ‘ — ‘ C@N % W2-14NPT| EE égs L;l?_ ‘ - ‘

Whw no: SW0054

Part no:
Application/0.E. M:
LADA 5100 085 30801

© | 'w ||

Whw no: SWO059
Part no: EG140
Application/0.E. M:
DF

P

Whw no: SWO055

Part no: 7.3234 TS6111 FAE33735

Application/0.E. N:

FORD 1047284/3929104
978F-12A648AA
F62F/Z-12A648AA
F77Z-12A648AA/F8CZ-12A648-AA

JAGUAR LRA 1600BA
NAZDA F8B9-18-840/LF01-18-840
KIA MFSB9-18-840

% M12X1.5

< @ [t [

PR ok

e

Nhw no: SW0060

Part no:

Application/0.E. N:

AC 7966267
su1s

ROVER GTR106

TALBOT 001205552

%wmuwr El 6.35

http://www.okaymotor.com




CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWOO061

Part no: FAE31280

Application/0.E. M:

PEUGEOT 0424. 63

RENAULT 77 00 686 174
77 00 767 102
77 01 348 488

VOLVO 299085-7

TAIBOT 0015794500
97 509 510 80/SM-71446000

L

Gt [

‘C@w;% SJ'GGAS. 2 ‘ L,-én—? ‘ — ‘

Whw no: SWO0066

Part no:
Application/0.E. M:

Mhw no: SWO0062
Part no: 7.3008 TS917SA
Application/0.E. M:

GITROEN 95 581 212
FIAT 5494830
JAEGER 078890/326612/326979

PEUGEOT 0242. 14

RENAULT 7700 503 200
77 01 349 086

TALBOT 7810 24 0000

£ 1o |

Iq:fgz 2

Mhw no: SWO067

Part no: 7.3526 TS6126 FAE34080
Application/0.E. N:

CITROEN 1338 93

1338 F7
FIAT-IVECO 4837950

504127558
PEUGEOT 1338 93

1338 F1

5 [ [~

% M16X1.5
con

Mhw no: SWO0063
Part no: 2134
Application/0.E. M:
PAYKAN

ji 22 %SIS-HUHF

=N

Mhw no: SW0068
Part no: FAE33225
Application/0.E. M:
6. 12129596
OPEL 1238079

@ =t |

Mhw no: SWO0064
Part no: 7.3110 TS6096 FAE32370
Application/0.E. M:

RENAULT 74 39 186 486

VOLVO 3545031-1
9186486
9186486-8

{:(EZ 19 E%g M10X1.0

Whw no: SWO065
Part no:
Application/0.E. M:

% 3I8GAS

e

<

Mhw no: SWO069

Part no: 7.3271 TS6123 FAE33725
Application/0.E. M:

FIAT 46520915

“
y 77

@ |1s7] = |

% M12X1.5

‘ ‘\j( 2 % M14X1.5 @ 6.35

Whw no: SWO070
Part no: 7.3515 TS6072 FAE34150
Application/0.E. M:

MERGEDES 002 542 73 17
004 542 56 17
007 542 09 17
VDo 803/4/1

803/4/17

I%i;l ‘ 1021 ‘

http://www.okaymotor.com -1



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWOOT71
Part no: 7.3176 TS6081 FAE32560
Application/0.E. M:

B.M.W 12 621 710 535
12 62 1 747 281
17105 35
VDo 805/34/001
AC 1 %wms ‘ Lesd —‘

Mhw no: SWO0T76
Part no: 7.3086 TS6062 FAE33620
Application/0.E. M:
FORD 1 669 949
95VN-10884-BA
SEAT-V. W 251 919 501A
251 919 501D

>\

Whw no: SWO072

Part no: 7.3277 TS6124 FAE33720 &

Application/0.E. M:

ALFA ROMEQ 46474712
60814402

FIAT 46474712

46474713 /P
&gﬁ.%mgm. ) ‘T_aaj‘ Ly ‘

Mhw no: SWO077
Part no: 7.3252 TS6073 FAE33724
Application/0.E. N:
G. M

R 91 159 949
NISSAN 22630-000AB
OPEL 44 08 333
RENAULT 17 00 101 968

7700 113 867

.@355mm @ 20mm ‘ Y_Qﬁj — ‘

Mhw no: SWO0073

Part no: 7.3274 TS6092 FAE33295
Application/0.E. M:

B.MW 13 62 1 703 993
LAND ROVER 1703993

&0~ @ (L[l

=

Mhw no: SW0078

Part no: 7.4124 TS6127 FAE35860
Application/0.E. N:

FIAT-IVECO 99452677

g @[ ~]

Mhw no: SW0074

Part no: 7.3151 TS6085 FAE33290
Application/0.E. M:

MERCEDES 008 542 32 17

C@ 22 % |\.114x1.5.

Mhw no: SWO0079
Part no: 7.3088 TS6060 FAE32220
Application/0.E. N:
MERCEDES 002 542 25 17
005 542 10 17
005 542 26 17
661 542 30 17
v.N 200 919 501 ¢

jg 19 %MMX?:} E‘ 4mm

el bl

Mhw no: SWOO75
Part no: 7.3098 TS6083
Application/0.E. M:
ALFA ROMEO 60811520

DAEW00 12191170/25036898/96181508 \
FIAT 55199579/7778980

G. M 12 146 897/ 25 036 898 !
ISuzU 8-12191-170-0/8-15404280-0 /
OPEL 8504 13/13 38 441/48 03 530

RENAULT 11 IJI] 053 991

W] @ | et |~

Whw no: SWO0080

Part no: 7.4075 TS6115 FAE35320

Application/0.E. M:

FORD 7 280 558
95VH-8B607-HA

SEAT-V. W 251 919 369 B

‘ @ 25.5mm

7%

@ 20mm ‘ e ‘ 601 ‘

http://www.okaymotor.com



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO081

Part no:

Application/0.E. M:

DAENOO 25 036 979
1SUZU 8-2503-697-90
OPEL 13-38-450
HONDA 8-2503-697-90

AC " % 38-18NPT @ T_ﬁ_‘i’

Mhw no: SWO086

Part no: 7.3257 TS6090 FAE33781
Application/0.E. N:

AUDI-VN 078 919 501C

@'EEEmm @ 20mm ‘

Whw no: SWO0082

Part no: 7.3178 TS6074 FAE33590

Application/0.E.M:

B.M.W 13 62 1 730 034
17300 34

SIEMENS 5 WK 90081

@ | Lt

jg 19 %M'IEM.S

l
%) :55mmi & wmm

Whw no: SWO083
Part no:
Application/0.E. M:

£ 29 % 3/4-14NPT

Whw no: SWO088

Part no: 7.3535 TS6116 FAE34330

Application/0.E. M:

FORD 1 669 990
95VN-8B60T-LA AN

V.\ 701 919 3698 Ar
701 919 369C

Whw no: SWO087
Part no: 7.3059 TS6089 FAE33780
Application/0.E. M:
AUDI-SEAT-VN 059 919 501

078 919 501B
SKODA 078 919 501B

20mm

@' 25.5mm

6B 11| td] =

g dmm
Whw no: SW0084
Part no: 7.3264 TS6119 FAE33485
Application/0.E.N:

Mhw no: SW0089
Part no: KN-5051
Application/0.E. N:

BOSCH 0281 002 170 MITSUBISHI  MC-843920
FIAT 55353809 MD-005051
11746355 MD-050214
G.N 12 992 783
90 530 444
OPEL 13 42 570
_ 13 42 571 , _ _ ‘
C@ 19 % mixis|  {=2) Lﬁ'—? ‘ .- ‘ C@ 17 % M16X1.5 @ 6.35 Y—rdvz!j ‘ C ‘
Mhw no: SWOO085 5 Mhw no: SWO090
Part no: : Part no: 7.3258 TS6098 FAE33783
Application/0.E. M: /by, : Application/0.E. M:
G. M. 12334869 & ': AUDI-VW 059 919 501A
1513321 f F= SEAT 059 919 501A
6400759 ¢ 3 SKODA 059 919 501A
{ _1: FORD 1100619
{ b 1124770
E XM21-BA5T0BA
‘C@ 24‘ % 112GAS E 6.35 ‘ L(ﬁj ’ — ’ ‘@255mm &) 2mm | . . ‘

http://www.okaymotor.com



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO091
Part no: 7.3239 TS6120 FAE33490
Application/0.E. M:

ALFA ROMEO  46472179/46469865/60814715
BOSCH 0281 002 209
CITROEN/PEUGEOT 1338 C7/1338 F9

FIAT 500382599,/60814715/71739856
G.M 9 193 163/90 541 520

HONDA 37870-PLZ-D00

OPEL 13 38 511/13 42 567/6235605

e g © [t ||

Mhw no: SW0096

Part no: 7.3225 FAE33460
Application/0.E.M:

BOSCH 0280 130 081
NISSAN 22630-0M200

‘C@’ 19_ % M12K1.5 { @ \ Loat =

Mhw no: SW0092

Part no:
Application/0.E. M:
FIAT 5108 205
VEGLIA 710 1

65 9671 990 2

‘:(Q 7 %M!ZMS 835 T_‘i'—.l, ‘ — ‘

Mhw no: SWO097

| Part no:
Application/0.E. M:

[ BEHR §.200. 01
AUDI 034 919 369C

| V.W. 034 919 369C
SEAT 034 919 369C

' SKODA 034 919 369C

C@:a %mm.s ’ = ‘ o

Whw no: SW0093

Part no:
Application/0.E. N:
LADA

T [ ]

Mhw no: SWO0098

Part no: 7.3529 TS6099 FAE34310
Application/0.E.N:

MERCEDES 006 545 91 24

‘ {:ﬁi; 2% E%g M14X1.5

& =]

Mhw no: SW0094
Part no: TS-78
Application/0.E. M:
VALVULA

oWl B o[ |

Mhw no: SWO099

[ Part no: FAE34100
Application/0.E.M:

' RENAULT 7700 810 879

(@i@!} ‘ {Eﬁ;l ‘ 120¢

‘ C@u % M14X1.25

|

Whw no: SWO0095

Part no: STU-25

Application/0.E. M:

FORD 2517-4250
DOZZ-10884A
XA10884A

‘C(@ 1?’ %ma-mnpr ﬂ m

Mhw no: SW0100
Part no: 7.3184 T56068 FAE32650
Application/0.E.M:

G.M 94 854 974

HOLDEN 8342016050
8342020040

TOYOTA 83420-05010

83420-16050
83420-20040
83420-AA010

% 1/8GAS

e

® | [

http://www.okaymotor.com

-10 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO101

Part no: 7.3522 TS6101
Application/0.E. M:
RENAULT 7700 810 879

Whw no: SWO0106

Part no: 7.3254 TS6097 FAE32600
Application/0.E. N:
G.N 09109661

Ii'fSllBlSHl M-809548 » _
OPEL 44 01 661 >
RENAULT 77 00 865 290 J
VOLVO 30809548
2 M14X1.25 \ L 1201 P 55mm| () 20mm 'f_;é_? —

Nhw no: SWO0102 Whw no: SWO107

Part no: Part no: BEHR 8.051.01

Application/0.E. M: Application/0.E. M:
AUDI-VH 049 919 501B

049 919 501E
|C@19 %mm.s (=) ‘ Lot ‘ - ‘ C@’x’ % woxto | E2) ‘ 8] ‘ 120¢ ‘

Whw no: SWO103

Part no: 7.3101 TS6078 FAE33630

Application/0.E. M:

AUDI-SEAT-VN 025 906 041A

FORD 1 669 965
95VH-12A648-BA

MERCEDES 002 542 07 18

t
@Jssmm @' 20mm

® | Lt | —

Mhw no: SWO108

Application/0.E. M:

G.M 09 110 298
MITSUBISHI ~ M-810074
OPEL 44 02 298
RENAULT 77 00 829 427
VOLVO 30810074-2

Whw no: SW0104

Part no: 7.3125 TS6130 FAE33610
Application/0.E. M:

VOLKSWAGEN 251 919 501

‘ @ 25.5mm

0= 0[]~

Mhw no: SWO109
Part no: 2140
Application/0.E. M:
BOSCH 0280 130 023
ALFA ROMEO 605 233 83
119 11 11 010 00
B.N.W 13 62 1357 414
NISSAN 22630-N4200
22630-10600
RENAULT 77 00 582 688

Part no: 7.3550 TS6102 FAE34350

o=@ tasl=]

C@w‘%m:xtﬁ‘ ‘ T"r_’—"—? ‘_‘ ‘

Mhw no: SWO105

Part no: 7.3232 786091 FAE33785
Application/0.E. M:
AUD|-SEAT-VW 058 919 501A

‘@‘.‘SSmm &J 20mm

3 | LIt

Nhw no: SWO110
Part no:
Application/0.E. M:
MAZDA

‘:‘[( 17 % M16X1.5

http://www.okaymotor.com

Ao [tety [—] |

-11 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO111
Part no: FAE31210
Application/0.E. M:
JAGUAR G 34812
G 40106
DAC 2583
ROVER GROUP 13 H 9129
GTR 108, 110/GTR 126
PRC 2505
RTC 3679

jg 21‘%5.’3?«1%% E 6.35

o

Whw no: SWO116 .
Part no: 7.3146 TS6075 FAE33640
Application/0.E. N:
FORD 1 669 948
.
-V, P
6U0 919 501 B [k\

SKODA 357 919 501 A &

6U0 919 501 B

oo @ LIt

Whw no: SWO112

Part no: 7.4073 FS156 FAE35300
Application/0.E. N:

VOLKSWAGEN 251 919 369

|@155mm & 2mm

@ bd =] =

Mhw no: SWO117
Part no: WG1371K
Application/0.E.M:

Mhw no: SWO113
Part no: 7.5692 FS2032 FAE38391
Application/0.E.N:

AUDI 800 959 4818

SKODA 8D0 959 4818

1] 800 959 4818
) 255mm| 2 20mm

o

——

1t

Mhw no: SWO118
Part no:
Application/0.E. N:

Mhw no: SWO114

Part no: 7.3000 TS912SA

Application/0.E. N:

ALFA ROMED 60813687/7588802

FIAT 4 067 872/4 108 672

4 276 954/4 349 082

4 407 984/4 409 505/4 414 600
4 448 131/7 588 802/7 588 882

LADA 2101-38086-00

MALANCA 0551.01.105000  VEGLIA

6.35

o0

957-90 ‘ 1020-97 C(\g]ﬁ %sxa.muwr E]. 835 % ‘ —

Mhw no: SWO119
Part no: FAE32170
Application/0.E. N:
DAIHATSU 83420-87701

HONDA 37750-611-15
INNOCENT! 553621200
NAZDA 0118-18-181/0118-18-510

D277-18-884A
ROVER GROUP ~ GTR 127
1.165.9640.990.1 | SUZUKI 34850-65011

e o - ey

Mhw no: SWO115
Part no: 7.4107 TS6105 FAE35580
Application/0.E. N:

FORD 7210 733
95VN-8B607-EA

SEAT 357 919 369E

SKODA 357 919 369E

VOLKSWAGEN 357 919 369E

‘ @ 25.5mm

@ 20mm

L td

Mhw no: SWO0120
P Part no: 7.3323 FAE33255
Application/0.E. M:
CITROEN 1920 KP
PEUGEQT 1920 KP
TOYOTA 89422-06010
89422-0H010
89422-33030

‘{' /

112C-1071

1201C-110¢

‘C@ 19 ’ % M12X1.5

http://www.okaymotor.com -12-



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO121
Part no:
Application/0.E. M:
JAEGER 335128

=

e g 00|

Mhw no: SWO0122

Part no: FAE33240
Application/0.E. M:
SUZUKI 13650-57F00

|<:£§; 19 E%g M12X1.5

o

Mhw no: SWO126
Part no:
Application/0.E. M:

® | ||

Mhw no: SWO0127
Part no: TM106
Application/0.E. M:
LADA

C@ 21 %yamawpr

y

Mhw no: SWO0123

Part no:
Application/0.E. M:

Mhw no: SW0128

Part no: FAE34170
Application/0.E. M:

VDo 803/14/17
B.M.W 12 621 716 137

‘ ﬁ@ 7] % 1/4GAS @ M5 Lﬁ;jj ‘ _ ’ j@ 19 % M14X15 l-' ‘ TT-,;},—_I 10831
Mhw no: SWO0124 : Whw no: SWO0129
Part no: 7.3112 .@ Part no:
Application/0.E.N: m Application/0.E.N:
MERCEDES-BENZ 001 542 23 17 4! : 7 VDO 804/4/10
VD0 360. 081/034/002 D=
801/001/004 N

S rnese

:£§§ 18 Egg M14X1.5

Mhw no: SWO125 S
Part no:
Application/0.E. M:

@Md

e

Whw no: SWO130

Part no:
Application/0.E. N:
RENAULT 7700 113 667

http://www.okaymotor.com




CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO136

Part no: FAE32260 TS902SA
Application/0.E. M:
NISSAN 25080-62200

Whw no: SWO131

Part no:
Application/0.E. M:

@‘Lﬂj‘—‘ .®'14mm @nmm‘Es.as

Mhw no: SWO137

Part no: FAE34150

Application/0.E. M:

MERCEDES-BENZ 002 542 73 17
007 542 09 17

VDO 803/4/1
803/4/1

‘d@ 17 % M16X1.5
L

Whw no: SW0132

Part no:
Application/0.E. M:

@ §.35 £ tgq 10031

=[] e

% M14X1.5

|£ 17 % M16X1.5

Whw no: SWO133 Whw no: SW0138
Part no: - Part no: 7.3230 TS6084 FAE33310
Application/0.E. M: y - Application/0.E. N:
DATHATSU 89422-87101-000
£ 89422-87202-000
£ HYUNDAI 39220-35710
MITSUBISHI MD-177572
MD-182467
VOLVO 30874182

B[t || e [U=[&[t»]|-]
Whw no: SWO139

Part no: 7.3549 Ts6100 FAE34390

Application/0.E. M:

RENAULT 77 00 828 565

VOLVO 9144143-0
9144143-6

‘ &g 20 % 318GAS

Whw no: SW0134
Part no: FAE32630
Application/0.E.M:
CHRYSLER 56027012
JEEP 56026710

U O [t [ -] e

% M12X1.5 ‘ T‘?é‘_—l ‘ 120€ ‘

Ed

Whw no: SW0135 7 Mhw no: SWO140
Part no: WG2705B1 fé-’ Part no: 7.3154 TS6103 FAE31610
Application/0.E. M: o Application/0.E. N:
SUZUKI o FORD 7203 359
95VN-10A998-AA
SEAT 1HO 919 563
SKODA 1HO 919 563
, V.N. 1HO 919 563
: VDO 801/016/006
‘i@ 18 % M14X1.5 _:: ‘ igﬁi ‘ — ’ ‘C@n % M10X1.0 ﬁ 6.35 ‘

http://www.okaymotor.com -14-



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO141
Part no: 7.4000 TS6053 FAE35070
Application/0.E. N:

FIAT 4 141 538/4 163 888
4169 122/4 185 217
4189 508/4 334 613
4 414 779/7 588 847/7 588 920
SEAT SE 141947. 000A
VEGLIA 850 1/1.165. 8545. 990. 4
ZASTAVA 01450292

A 2 ‘ B s ’ 535

o =]

Mhw no: SWO146
Part no: FAE31210
Application/0.E.N:
JAGUER G 34812
C 40106
DAC 2583
13H9129

GTR 108, 110/126
PRC 2505

RTC 3679

@%‘W [ o | Loy ’ o ‘

ROVER GROUP

Mhw no: SWO142
Part no: 7.3220 TS6125 FAE33760
Application/0.E. N:

Whw no: SW0147
Part no: WDG1371D
Application/0.E. M:

e ||

FIAT 46414596
500309833
JAEGER 401930
AC 1 E%g M12X1.5 {!!!i'F ‘ Lest | — ‘
Mhw no: SWO143
Part no: 7.3284 TS6117 FAE33425
Application/0.E. M:
FORD 4337456
7158126
F5AF-12A648 AA
F5AF-12A648 AB
NAZDA 1E00-18-510
ZIN1-18-707
AC 1 i%g weroer| EI ‘ Lesf ‘ — ‘

| A ;g’% s [ol ess

Mhw no: SWO148

Part no:
Application/0.E. N:

e =[] B o [ Lo [ |

Mhw no: SWO144
Part no: 7.3155 TS6077 FAE33130
Application/0.E. M:

BOSCH 0 280 130 058

FORD 1953 327

KIA 0KO11-18-840/0K054-18-84X
0K95B-18-840/K8574-18-840

NISSAN 22630-D5900

22630-V5010
22630-51E00/22630-51E10

{:(E; 19

E%; M12K1.5 ‘ a‘ii!" ‘ Lesf | _

Mhw no: SWO0149

Part no:

Application/0.E. N:

DAITHATSU 89422-87703-000

{:ﬁgz 19 E%g M12X1.5

Mhw no: SWO145

Part no: 7.3159 786095 FAE31520

Application/0.E. N:

NISSAN 25080-9F900
25080-G9800

‘ :fg 13 % M12X1.25 El 635

by =]

Whw no: SW0150

Part no: FAE33060

Application/0.E. M:

RENAULT 77 00 737 571
77 00 869 343

(| @[ et [ -] |

http://www.okaymotor.com -15-



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO151
Part no:

Application/0.E. M:
BOSCH 00 28 783 311
RENAULT

M18X1.5

E 6.35

Whw no:

SW0156
Part no:

Application/0.E. M:
SUZUKI

EE!EE 48 T—gzj—l | —

e[

Pl
Mhw no: SWO152
Part no:

Application/0.E. M:
G. N 25037250

=
o

g

Whw no: SWO157
Part no: FAE33120
Application/0.E.M:

GITROEN 96.131. 470
FIAT 9613147080
PEUGEOT 1920. K9
JAEGER J030010

QZ(E; 19 E%g M12X1.5 {I!i!"

|t [~ ]

.

Green calour
Yellow ring

< i~

SW0153
Part no:

Application/0.E. M:

E 6.35

|eefo =

Whw no: SWO158

Part no: FAE31630

Application/0.E. N:

G.N 91136081
96052069

SUZUKI 34850-85000

34850-82001

‘ j@ 17 | %mm.zs
Mhw no:

SW0154
Part no:

Application/0.E. M:

@Ei@psas

M14X1.5

o~

Mhw no: SW0159

Part no:

Application/0.E. M:

DAIHATSU 89422-87703-000

{:ﬁ;; 17 [jl 635 T—z;zj—l

<8
Nhw no: SWO155
Part no:

Application/0.E. N:
JAEGER 336941

i

7 M27X1.0
SIBX18UNF

% M14X1.25
Mhw no:

SW0160
Part no:

Application/0.E.M:

e | @ ]

http://www.okaymotor.com

B e ||

-16 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO161
Part no:

Application/0.E. M:
VDO 801/4/4

B 6.35

‘c@ 19 ’ % M1EX 5

Mhw no: SWO166
Part no:

Application/0.E. M:

Mhw no: SWO162
Part no: FAE31110
Application/0.E. M:
EBRO $T-410884 C
JAGUER C 15472
OPEL 1342557
ROVER GROUP 13 H 5602
161 510/ 555 843
E1C 9988/GTR 111

Mhw no:

SHO167
Part no:

Application/0.E. M:

E 6.35 T;g'zﬁ—l

@ 18 % M14X1.5

VDO 801/1/33 _
|C@1? S/BX18UNF E 635 ?—1,1‘»1 ‘ =
Whw no: SWO163
Part no:

Application/0.E. M:
642 008 1020

@ = B,

Mhw no: SWO0168
Part no: 7.3148
Application/0.E. M:

CITROEN 1920 K9
96 131 470
FIAT 9613147080
JAEGER 30010
PEUGEOT 1920 k9 (106. 306. 405. 605)

g & |

g

; i Green colour

YeBow ring

Mhw no: SWO164 Whw no: SWO169
Part no: 7.3308 FAE33792 Part no:
Application/0.E. M: Application/0.E. M:
CITROEN 1338 10/1338.55/1338 56 JAEGER
1338 84/96 033 248
FIAT 9603324880
9621000680
PEUGEOT 1338 10/1338. 55
1338 56/1338 84
| DC00036980 (106. 306. 405. 406. 605. 803) |
G % LEE (5E) ‘ o £ 19 % wixts | {E=1) ‘ Lst ‘ — ‘
1 = PICIER | -
Nhw no: SWO165 Mhw no: SWO170
Part no: Part no: FAE34190

Application/0.E. N:

835

‘C@ 19 ‘ % 1/8-27NPT

Application/0.E. M:
Renault Trucks 5000082670

M18X1.5

Rafl ths |

| Jlec|w

f

100°C

http://www.okaymotor.com

-17 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO1T71
Part no: TS-33
Application/0.E. N:

q:fg; 17 E§§ M1TX1.5 dﬂi M4

Mhw no: SWO176

Fot [ |

B -

£ 14 % 1/8-27NPT

Mhw no: SWO172

Part no: 7.3034 186011
Application/0.E. N:
NISSAN 25080-62200

Mhw no: SWO177

Part no:
Application/0.E. M:
Part no:
Application/0.E. N:

q:£§§ 1?i E%g M16X1.5 1ir M3 ‘ T—;zj—l ‘ = |
| Whw no: SWO173

Part no: 7.3067 FAE32210 TS6057
Application/0.E. N:
M 94 235 691
94 237 861
1SuzU 8-94235-691-0
8-94237-861-0

< i

(8] ||

Mhw no: SWO178

1217

C!DIdmm T_E;é:l

eo[w]

Mhw no: SWO174
Part no: FAE31220
Application/0.E. N:
RENAULT

SEAT

UNIVERSAL

—_— ‘ @95mm

Ao [

Mhw no: SWO179

Part no: TS-12 TS-178 TU174

Application/0.E. M:

G.H 10137623
25036807

T

‘{:igz 2 %§;3mJBNPT

Mhw no: SKO175

Part no:
Application/0.E.N:

g

=Tl

Nhw no: SWO180

Part no: KN-2Z
Application/0.E. M:

G. M 94021166
I1SUZU 9-83151-419-0

E 6.35

e

=

http://www.okaymotor.com

Part no: ‘
Application/0.E. M:
VoLvo 4803686

-18 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO181
Part no: 7.3094 FAE32240
Application/0.E. N:

GHRYSLER 10771821
JAEGER 335014
RENAULT 77 00 771 821

7700 784 113

C@ 19 % M14X1.25

Mhw no: SWO186

Part no: 7.3144 TS6108 FAE33350
Application/0.E. N:
G N 97 036 606/97 069 786

HOLDEN 8970366060/8970697861
HYUNDAI 39220-35510/39220-35520
ISuzu 8-97036-606-0
KIA 39220 35510/39220 35520
MITSUBISHI MD-149338
| OPEL 13 41 031/13 41 038
% ‘—‘ ‘C@m %3;5@5‘_&] ‘ i,ﬁi —

Mhw no: SW0182

Part no:
Application/0.E. M:

&@:4 % M18X1.5

Whw no: SWO187

Part no: 7.3267 TS6066
Application/0.E. M:

ALFA ROMEO 530 438/60751206
60805482/60808202
7588865
7588856/7589337
82357865
104.9195. 050
9195. 050

FIAT
LOMBARDINI

w15 | (@
C@m % M4){.5‘ 6.35‘ %

Whw no: SWO183
Part no: FAE33170
Application/0.E. M:

BERU 0824111007
RENAULT 7700 737 572
:[g il % M14X1.5

Mhw no: SWO188

Part no: 7.3272 TS6082 FAE33155
Application/0.E. M:

B.M.W 1433076

13 62 1 433 076

23 017838 935
MEK000030L/MEK100170L
MEK500130/NSC100870L
MEK000030/MEK100170
NSG100870

i

LAND ROVER
ROVER

et [~ ]

Mhw no: SWO0184

Part no: 7.3285 FAE33745
Application/0.E. N:
FORD 1109340

4093827/4529853

1L2A-12A648-AA
1L22-12A648-AA
3L8A-12A648-BA
XS6F~12A648~CA
XS6Z-12A648-CA

‘C(Q 19[ (%] 15.5;"-1 1}

e

Mhw no: SWO189
Part no: 7.3143 TS6122 FAE33200
Application/0.E. N:

ALFA ROMEO

FIAT 46477022/4850371/7547977
FORD 1 639 283/V86HF-12A648-AA
G. M/HOLDEN 90 411 977

OPEL 13 42 850/45 00 001

V. ¥ 126 906 161 12

GITROEN/PEUGEQT

60806379/60813751
1338 AS

Nhw no: SWO185
Part no: FAE33730
Application/0.E. M:

FORD F6DZ-10884 AA
F7DZ-10884 AA
FT7F-10884 AB

MOTORCRAFT  SH-5174

‘C@ 19 ’ %ya—ww

g @ |

Mhw no: SWO0190

Part no:
Application/0.E. N:

=]

lee

%SIBAWUNF E 6.35

http://www.okaymotor.com -19-



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO191

Part no:
Application/0.E. M:

F o

jé 19 ‘ % 3/8-18NPT

Mhw no: SWO196
Part no: FAE33510
Application/0.E.M:

Whw no: SWO0192

Part no:
Application/0.E. M:

jé 14 ’ % 1/8-28PT

[ 1 ||

CITROEN 94. 633.276/96. 273. 896
FIAT 9463327680/9627389680
G.NM 93 161 007
JAEGER 084 01 AG/084 02 AA/H104077
NISSAN 22630-000AA/22630-00QAC ’
PEUGEOT 1920 1J/4G/8Y/9F  OPEL 44 12 325 & 6
RENAULT 77.00 101 451/77 01 042 145/82 00 164 249
e e
Whw no: SWO197
Part no: FAE33520
Application/0.E. M:
G.M 9 109 683/90 411 958
MITSUBISHI MD-313486
OPEL 836 402/44 01 683
RENAULT 77 00 744 583
SIEMENS 5101432002
VOLY0 30804940
30871112

‘ & wsom ‘ ‘ Lo - ‘

Whw no: SWO193

Part no: 7.3131 FAE32330
Application/0.E. M:

BERU 0824 121 106
MERCEDES 005 545 03 24

jg 18 %MHM.S

o[t ||

Mhw no: SW0194

Part no: KN-1Z
Application/0.E. M:

1SuzU 9-83151-432-0

<l

e[t ||

Mhw no: SW0198

Part no: 7.3200
Application/0.E. M:
LAND ROVER ETC 8496
LUCAS 733 55
SAAB 74 85 006

@19

¥ @ |

Mhw no: SW0199

Part no: 7.3183 TS6086 FAE33280
Application/0.E.M:
BEHR-THOMSON 8. 505. 01
MERCEDES 009 542 35 17

AC 2 %mm.s ‘e ‘ Lesd | —

Whw no: SWO195

Part no:

Application/0.E. M:

RENAULT 77 00 730 022
VOLVO 3 430 394

C@w

B oo ‘ Ll

Mhw no: SW0200

Part no: 7.3077 TS6061 FAE32270
Application/0.E.M:
BMW 12 621 710 512

1710 511
LAND ROVER ST62253
VDo 801/003/061

@19

%Mlm_ﬁ ‘ Y_gzﬁ_l ‘_‘

http://www.okaymotor.com -20-



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SW0201 Mhw no: SW0206
Part no: 7.3002 TS911SA Part no: 7.3127 TS6076 FAE33020
Application/0.E. M: Application/0.E. M:
ALFA ROME0O 605 158 38/605 158 39 ALFA ROMEO 60523383

105 00 06 322 00/00 BMW 13 621 357 414

105 00 06 322 01/00 BOSCH 0280 130 023
FIAT 4 171 667 FIAT 4393601
INNOCENT! 34362106/634362106 G. M. 09275979/96060084
SEAT SE 021947.000C/0003949879 NISSAN 00630-N4200/22630-10600
VEGLIA 1.165. 9672, 990. 2/65 9633 990 0 OPEL 1338443 RENAULT 77 00 582 688

19 | EE M16X15 | 6.35 ‘ 19 M12X1.5 {= ‘ ‘

Mhw no: SW0202 Mhw no: SWO0207

Part no: 7.3005 TS908SA FAE32230
Application/0.E. M:

Part no: 7.3225 TS6087 FAE33040
Application/0.E. M:

DAEN00 03439088/92061480 BOSCH 0280 130 071/0280 130 072

G.M 03439088/90246852/90510850 FORD 1960 041/1 960 296
92063941/94472002/94621028 NISSAN 22630-D9701/D9702

ISUZU 8-92061-480-0/8-92063-941-0 22630-44B10/71L10

OPEL 0851075/1338448/1342561 22630-99B00/99810
1342567/1342568/5851969 OPEL 4415176

ROVER GROUP  GTR 115 RENAULT 22 63 044 B20/77 01 058 398

; | =
13| 2 I-'E-C?NPT| 6.35 ‘ 19 M12X1.5 ) ‘ ‘
Mhw no: SW0203 Mhw no: SW0208 o

Part no: 7.3084 TS6058
Application/0.E.N:

Part no: 7.3041 TS6020 FAE31330
Application/0.E. M:

FIAT 7 548 005 G. N 94841819/94847543
7588 883 HYUNDAI 94650-11110
VEGLIA 1. 165. 9648. 990. 2 MITSUBISHI MD-001380/MD-603427
1.165.9670. 990. 6 TOYOTA 83420-16010
83420-20010
83420-20020
VW J83 420 200 20
18 M14X1.25 | £.35 ‘ 17 ‘ M1BX1.5 £.35 ‘ ‘
Nhw no: SH0204 Mhw no: SW0209 £
Part no: 7.3128 TS6065 FAE33010 Part no: 7.3043 TS6030 FAE31500 ]
Application/0.E. M: Application/0.E. M:
BMW 13 621 284 397/13 621 709 966 HYUNDAI 94650-21010
CITROEN 91,514,549 MITSUBISHI MD-001380
G M. 90018835/90080939/90410192 MD-095556
HYUNDAI 39220-22010
OPEL 1338444/1338451/1338458
PEUGEOT 0242, 46
RENAULT 7700 267 388 025 906 041
19 | E2| Mi12X15 1?‘ M16X1.5 6.35 ‘ ‘
Mhw no: SW0205 Mhw no: SWO0210

Part no: 7.3165 TS6070 FAE33260

Application/0.E. M:

FORD 6193368
91AB-10884-AA

o

1/8-2TNPT |

Part no: 7.3062 TS6031
Application/0.E.N:

6. M. 94 021 166
1SUzZU 9-83151-419-0

f

17 ‘ M16X1.5

.35 ‘

http://www.okaymotor.com

-21-



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SHO211
Part no: 7.3082 TS919SA FAE32190
Application/0.E. N:
FORD 1640040
6108298
6136366
6146864
85FB-10884-AA
86AB-10884-AA

C@v 13 - % na.:?-mr‘ Jl M3

T

Whw no: SHO216
Part no:
Application/0.E. M:
6.M

& @ [ [

Whw no: SHO0212

Mhe no: SHO217

Part no: 7.3136 TS921SA FAE32010 Part no: @
Application/0.E. N: Application/0.E. M:
FORD 1657685 Y00 31/07
89FB-10884-AA
AC %r.@-:mnr ﬂ M5 ’ Li’_l — C ‘% M1 S @ i
Whw no: SHO213 s Whw no: SHWO218
Part no: 7.3069 TS913SA FAE32010 < Part no: '
Application/0.E.N: Application/0.E. M:
FORD 1784077/6076967 Y00 803/14/4
B1AB-10884-AA
84AB-10884-BA
C4AH-10884
FORDAUSTRALIA 88DA-10884-AB
EAB-10884-A
LAND ROVER ARUTTTS ROVER  GTR120/GTR199
jg 13 %n&:mn? B §.35 ’ % —_ ﬁg 15‘% M14X15 @ ‘Ligq 1152 3¢
Mhw no: SWO0214 Whw no: SW0219
Part no: Part no: 7.3177
Application/0.E.M: Application/0.E. M:
72400547 FORD 3 405 645/B593-18840-A
N | 91 171 786/96 062 513
JAGUAR LNA 1600AA
KIA MB593 18840A
NAZDA B 593-18-840 A
SUZUKI 13650-57F00-000
) TOYOTA 89422-20010/30030/35010
2 5/8-18UNF ) 19 | B wi2n1s & ——
o P € Lo | Lo, C | Fee | € | Lt
Whw no: SHO215 Whw no: SW0220
Part no: HS-6181 Part no:
Application/0.E. N: Application/0.E. M:
6N 10096181
@ 19 %3'&-162:”‘ ’ " ’ [ [ @ 15‘%3_@.15-;?% Lﬂ_? =
_09.

http://www.okaymotor.com



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO0221
Part no:
Application/0.E.N:
VDO 801/1/7
323-801-001/007N
19’ ~ M14X15 6.35

Mhw no: SW0226

Part no:
Application/0.E. M:

4

17

= M1x1s ’

Whw no: SWO0222

Mhw no: SW0227

Part no: Part no:
Application/0.E.N: Application/0.E. N:
VDo 801/1/29
323-801-001-029K/N
ot | em T ] 171 B = 1 I.
22 | 22 miex1s | L 4mm \ \ 1?‘ = 14-18NPT | L L UL 1.2mm]
=: - - | PIC(ER
Whw no: SWO0223 Mhw no: SW0228
Part no: &) Part no:
Application/0.E.M: ¥ Application/0.E. M:
VDO 801/1/10 G. M.
323-801-001-010K/N
22’ B 18 £.35 19| B 3ie-18NPT
Whw no: SWO0224 Mhw no: SW0229
Part no: FAE33540 Part no:
Application/0.E. N: Application/0.E.M:
CHRYSLER 56004815
13| 25 1s-27npT 22 MBX10 | SMKf#f : ‘ ‘
=2} PTCE®R) |

Whw no: SW0225
Part no: 7.3225 FAE33110
Application/0.E.N:
BOSCH 0280 130 071

0280 130 072
NISSAN 22630-D9701
22630-D9702
22630-44B10
22630-71L10
22630-99B00/99810

Mhw no: SWO0230
Part no:
Application/0.E. M:

Blue

19| B2 miaxis

19 | | M14X15

M ‘ ;

PIC(ER) ‘ ‘

http://www.okaymotor.com

-23-



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no:

SW0231
Part no:

Application/0.E. M:

Whw no: SWO0236
Part no: 7.3198 FAE33450
Application/0.E. N:

HONDA 37870-PJ7-003
37870-PK2-005
48160-P6K-004
1SUzU 5-86202-847-0
' ROVER 6TR210 |
74 NEK100070 s
_ _ o MEK100070 )
C@ 13 ’ % M11X1.5 1.95M2%; ‘ = ’ C@ 19 % M12X1.5 ‘ ?—17'5—? ‘ =
Whw no: SW0232 Whw no: SW0237
Part no: Part no:
Application/0.E. M: Application/0.E. M:
i@ 17 % M14X1.5 1.95M% ‘ T—%—Ig ‘ C@ 19 % M1BX1.5 ﬂsasl‘ T_‘?h ‘ 1007 ‘

Mhw no:

SH0233
Part no:

Application/0.E. M:
G. M.

&g 19 % 3/8-18NPT

E

Mhw no:

SKH0238
Part no:

Application/0.E. M:

o| 48 [o
| 6.35

&@19

96:3T ’

Mhw no: SW0234

Part no: 7.3299 FAE33455

Application/0.E. M:

HONDA 37870-PLC-004
37870-PNA-003

< g @

% 5/8X18UNF
Whw no:

SW0239
Part no:

Application/0.E.N:

i [ ]|

Mhw no: SW0235

Part no: 7.3198 FAE33450
Application/0.E. M:

HONDA 37870-PJ7-003
37870-PK2-005
48160-P6K-004
5-86202-847-0
GTR210
MEK100070
MEK100070

% M12X1.25

1SUZU
ROVER

6@19

® | = |-

Whw no: SWO0240
Part no: 7.3507 FAE34010
Application/0.E. M:

CHRYSLER J0767751
JAEGER 33328101
RENAULT 7700 755 595

7700 758 464
7700 767 751

| ® [ts [

M14X1 25

&@22

http://www.okaymotor.com

i
y

-4 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO0241
Part no: 7.3211 TS6109
Application/0.E.M:

DATHATSU 89422-87701-000
G.M 96 056 758
MAZDA 8 574-18-840
SUZUKI 13650-84101-000
TOYOTA 89422-12010

89422-30020

£ 19. %mm.s | ‘

tes! |

Whw no: SWO0246

Part no: 7.3083 756064

Application/0.E.N:

NAZDA A NOT 18 510
AMO1 185100

6.35

by

Whw no: SWO0242

Part no: 7.3121 TS6106 FAE31680
Application/0.E. W:

NISSAN 25080-70J00

:@ 13’ % M12K1.25 ﬂ 8.35

=

‘ J{:igz 17 E%g M16X1.5
Mhw no: SW0247
Part no: 7.3019 TS6112 FAE31250
Application/0.E.N:
LAND ROVER PRC 2505
LUCAS SNB155/SNB156
ROVER PRC 2505
UNIPART GTR123
GTR129
GTR131
PRC2507

s

v

Whw no: SW0243

Part no: 7.3223 TS6107 FAE31650
Application/0.E.N:

NISSAN 25080-89907

i@ 13 %wm_zs 6.35 ‘

e |

Nhw no: SWO0248
Application/0.E. M:

LAND ROVER 623050
LUCAS SNB103
ROVER GTR101
UNIPART GTR101

GTR109

Part no: 7.3046 TS907SA FAE31490

o[

., <mp, <.

Mhw no: SW0244
Part no: 7.3191 TS6088
Application/0.E. W:

G.M 9109 810
OPEL 44 01 810
RENAULT 77 00 737 571
77 00 869 343
VoLvo 3344169
3345511

C@m’% M12)<1_5. == ‘

[S==8|

Mhw no: SW0249
Part no: 7.3004 TS6052 FAE32180
Application/0.E.M:

V. 028 919 501 A
YOLVO 1257617-9

— 13 M10X%1.0 6.35
| @ 0| wos| B

Whw no: SW0245

Part no: KN-10N
Application/0.E. M:
NISSAN 25250-90004

C@ 17 E 6.35

% M16X1.5

=

b

Mhw no: SW0250

Part no: FAE32690
Application/0.E. M:
CHRYSLER 56027011

_"

:‘[[ 13 ’ % 1/8-27TNPT

& [ ]

http://www.okaymotor.com

-25-



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO251

Part no:
Application/0.E.N:
HYUNDAI 94650-72410
17 ‘ I M16X1.5 ’

Whw no: SW0256
Part no: 7.3525
Application/0.E. N:

ELTH 269011
269031
FIAT 7670548
7762301
2 M16X1.5
con

122T

Mhw no: SW0252

Whw no: SW0257

con

22 M18X1.5

Part no: Part no: 7.3520
Application/0.E. M: Application/0.E. N:
HYUNDAI 94650-42051 VDO 323.803/001/007
803/001/007
19| 2 wmiexts 2| B muxs| || 48 10¢ ‘
Mhw no: SWO0253 Whw no: SW0258
Part no: 7.3500 FAE34020 Part no: 7.3530
Application/0.E. M: Application/0.E. M:
FIAT-LANCIA 4824207 FIAT 60550642
504128963
5969930
7762302
2z| = MiBx1s 151 6.35

n7C ’

Whw no: SW0254
Part no: 7.3509 FAE34060
Application/0.E.N:

Mhw no: SWO0259
Part no: 7.3505 FAE34160
Application/0.E.M:

ALFA ROMEO 60806378 BMW 62 161 360 870
60811250 VDO 323. 803/001/022
7762300
ELTH 269032
FIAT-LANCIA 60809521
7553258
7762300
22 M16X1.5 T M14X1.5 48 (
o 120 ’ 22 14X1 i8 "7 ‘
Mhw no: SWO0255 Whw no: SWO0260
Part no: 7.3518 Part no: FAE34180
Application/0.E. M: Application/0.E. M:
ALFA ROMEO 7633355 VDO 803/002/007
7639562 803/1/22
2| B miexts 2| B miaxis 43 1301
‘- con 6.35 ‘ . ‘

http://www.okaymotor.com

-26 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Mhw no: SWO261

Part no: FAE34190
Application/0.E.M:
RENAULT TRUCK 5000082670

Mhw no: SW0266
Part no: FAE34480
Application/0.E.M:
NISSAN 25080-9X400

AC 2 = miexts Elﬁ“_fsﬂ T_?:;g_l ‘ 100TC d@ 2 {s:smumi ;aaqﬂ f ?—ﬂﬂ ‘ 115
Mhw no: SW0262 Whw no: SW0267
Part no: FAE34210 Part no: 7.3126 FAE33030
Application/0.E. M: Application/0.E. N:
Motor Iberrica 01501129-0 AUDI-SEAT-VN 035 919 369 M
NISSAN 25080-D6300 B:!G ?322);]03 %20 1032?38 158
BOSCH 1
FORD 1626 473/V8 5SF12A648 AA
MERCEDES 004 153 16 28
004 153 25 28
_ i i i ~VoLvo. 1275494 _ .
. T -
=1 5/ | [e] 48 |o Y = d[="=] b =i
£@ 2 gs.sxmw' Dﬁﬁ‘] T;h 3¢ | j@ 19 % M14X1.5 T_¢,_T |
Mhw no: SWO0263 Whw no: SW0268
Part no: 7.3528 FAE34260 Part no: FAE33080
Application/0.E. M: Application/0.E. M:
ALFA ROMEO 60563390 BOSCH 0280 130 064
NISSAN 22630-37950
22630-70J00
(/@ 2 '%3 M18X1.5 ﬂé‘%@ ? ?_EQ ‘ 115 C@; 19 ’ % M12X1.5 :|FL?||J ’ ?_lZL,_T ‘ g
Mhw no: SW0264 Whw no: SW0269
:art no: 7.3351 FAE34265 Part no: 7.3060 TS6089 FAE33782
pplication/0.E. N: Application/0.E. M:
ALFA ROMED 60605959 AUDI-SEAT-VW 059 919 501
078 919 5018
SKODA 078 919 501B
§@ 2 'r:;ﬁ M18X1.5 H;%ﬂ i ?—ﬁ 15T G 2ssmm| S 2mm &Ej ‘ sl T ‘ — ‘
Mhw no: SWO0265 Whw no: SW0270 b e
Part no: FAE34340 Part no: '
Application/0.E. N: Application/0.E. M: [y, :
MERCEDES-BENZ 004 542 02 17 CHRYSLER 2084459 B A
VDO 803/6/1 g?é?g;g § ““;‘J
/ 55:!
o
&
%r T— 4 & - =1 1/ ] I - f —
&22 2 wexts @) s | Ly ‘ 1401 (£ 2 %1.2:(14:4;#‘ [ 63 —tj»—l

http://www.okaymotor.com

-7 -



CATALOGUE OF WATER TEMPERATURE SENSOR

@21 %mam.s E 6.35

Mhw no: SW0273
Part no:
Application/0.E. M:

—
B M14x1.
s

&@19

Mhw no: SW0274

Part no:
Application/0.E. M:
FORD FU98-10884-BA

C@ 22 %’ 1/8-2TNPT

=)

Mhw no: SWO275

Part no: KN-42
Application/0.E. M:

1SUZU 1-83161-007

==
C(@w %mﬁm.s c% M4

http://www.okaymotor.com

Mhw no: SW0271 Nhw no: SWO276
Part no: 7.3189 Part no: 7.3536 FAE34322
Application/0.E. M: Application/0.E. M:
RENAULT 89 33 001 543 FORD 1097 787
95VN-8B60T7-NA
AUDI 701919369 D
V. K 701 919 369 D
BLACK
: . . DARK-BLUE RING
& 21‘ % " E 635 () 255mm| (P 20mm ‘Tﬁ‘]’i\d’ 100

Nhw no: SWO0272
Part no:
Application/0.E. N:
G M 94024121
1suzu 5-83161-001-0

-28 -



CATALOGUE OF WATER TEMPERATURE SENSOR

Whw no: SWO0301 Mhw no: SW0306

Part no: Part no:
Application/0.E. N: U Application/0.E. M:

@ | T—% ‘ o .C@E‘%UE-HNPT

?

e =

Whw no: SW0302

Part no:
Application/0.E. M:

Mhw no: SWO307

Part no:
Application/0.E. M:

C@?:

%wmavwi[ B 635 | ?—{ﬁ—i ‘ —_ %”3'14“” ’ Lesd

Mhw no: SWO0303 Mhw no: SW0308

Part no: . Part no:
Application/0.E. M: Application/0.E. M:

C@tg %snmsuwi{ @ | T—%—In - !C@ 22‘ %Mmm.s

Whw no: SWO0304 Mhw no: SW0309
Part no: Part no:
Application/0.E.N: Application/0.E. M:

C@m“% 3rsA1sMpT.|[n @ T“%‘It | C@m %Mmms
Mhw no: SW0310

Mhw no: SW0305
Part no:

Part no:
Application/0.E. N: Application/0.E. M:

C@ss

1061

@ | s

2 |

%SMB-MUNF‘I @ T—%—L ‘ e ' ’C@w

% M10X1.25

L & | = [—

http://www.okaymotor.com -29-



